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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 are of 1 mark each.

The decimal expansion of the rational number pYIvr=c will terminate after :

(A) 3 places (B) 4 places (C) 5 places (D) 1 place

5cosec?d —5cot?0 is equal to :

(A) 5 (B) 1 (C) 0 (D) -5

Sides of two similar triangles are in the ratio 4 : 9. Areas of these triangles are in the
ratio :

(A) 2:3 (B) 4:9 (C) 81:16 (D) 16 : 81

If tanA = % , find the value of (sinA +cosA) X secA :

17 12
© 3 D) 17

The product of the HCF and LCM of the smallest prime number and smallest composite
number is :

(A) 2 (B) 4 (© o (D) 8

The measure of central tendency is given by the x coordinate of the point of intersection
of the more than ogive and less than ogive is :

(A) Mean (B) Median (C) Mode (D) All the above

If sin® =cos0, then the value of 0 is :

(A) 0° (B) 45°
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The quadratic polynomial whose sum of zeroes is 3 and product of zeroes is —2 is :

(A) x%2+43x-2 (B) x2-2x+3 (C) x2-3x+2 (D) x2-3x-2

cos 1°.cos 2°.cos 3° cos 180° is equal to :

(A) 1 (B) 0 © -1 (D)

1
2

The graphical representation of the pair of equations x +2y—4=0 and 2x+4y—12=0
represents :

(A) Intersecting lines (B) Parallel lines
(C) Coincident lines (D) All the above

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

D
Fig. 1

In figure-1, D is a point on the side BC of AABC such that /ADC = ZBAC . Prove that
CA CB

CD CA

Using fundamental theorem of arithmetic, find the HCF of 26, 51 and 91.

Convert the following data to a less than type distribution.

C.L 50-55 | 55-60 | 60-65|65-70 | 70-75
Frequency 2 8 12 24 38
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Divide x*—3x2+4x+5 by x2—x+1, find quotient and remainder.

For what value of k, 2x+3y=4 and (k+2)x + 6y =3k +2 will have infinitely many
solutions.

ABC is an isosceles triangle with AC=BC. If AB>=2AC?, prove that ABC is a right
triangle.

Find the mean of the following data.

C.L 1-3 3-5 5-7
Frequency 7 8 2

1 A A
If tan(A+B)=+/3 and tan(A—B)Zﬁ ; 0 < (A+B) = 90°; A > B, find

A and B.
OR
If sin 3A =cos (A —26°) where 3A is an acute angle, find the value of A.

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

Fig. 2
In figure-2, XY||AC and XY divides triangular region ABC into two parts equal in area.

Find the ratio of ﬂ
AB

1040123 - A2




Evaluate :

sin (50° +0) — cos (40° — 0) + tan1° tan10° tan20° tan70° tan80°
tan89° + sec (90° — 0) . cosech — tan (90° — 0) . cotd.

Find the Mode of the following data.

C.L 25-35 | 35-45 | 45-55
Frequency 7 31 33

Show that the square of any positive odd integer is of the form 8m+1, for some
integer m.

Solve for x and y :

(a—b)x+ (a+b)y=a%—2ab—b?

(a+b)(x+y)=a%+b?

OR

The sum of the digits of a two digit number is 12. The number obtained by
interchanging the two digits exceeds the given number by 18. Find the number.

Prove that /3 + /5 is an irrational number.

OR

Prove that ~/2 is an irrational number.

Prove that cosA + 1+ sinA = 2secA

1+ sinA cosA

OR

1

Prove that (cosecA — sinA) (secA — cosA) = ————
tanA + cotA
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In an isosceles triangle ABC with AB=AC. BD L AC. Prove that BD?— CD?=2CD.AD

Find the zeroes of the quadratic polynomial 6x2—7x—3 and verify the relationship
between the zeroes and the coefficients.

Find the Median of the following data.

C.L 10-20 | 20-30
Frequency 16 36

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

sin® — 251n36
Show that 35—~ < tanf
2cos” 0 — cosO

OR

Prove that sinA(1 +tanA) +cosA(1 +cotA) = secA +cosecA

Find all the zeroes of x*—3x3+6x —4, if two of its zeroes are 2 and —+/2 .

Draw the graph of 2x+y=6 and 2x—y+2=0. Shade the region bounded by these
lines and x-axis. Find the area of the shaded region.

Prove that the line drawn parallel to one side of a triangle, to intersect the other two
sides in distinct points, the other two sides are divided in the same ratio.

OR

Prove that in a right triangle the square of the hypotenuse is equal to the sum of the
squares of other two sides.
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cotA + cosecA —1 1+ cosA
cotA — cosecA + 1 sinA

Prove that

Convert the following data into a more than type distribution and draw its ogive. Also
find Median of the data from the graph.

C.L 100 - 120 | 120 - 140 | 140 - 160 | 160 - 180 | 180 - 200
Frequency 12 14 8 6 10
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sin (50° +0) — cos (40° — 0) + tan1° tan10° tan20° tan70° tan80°
tan89° + sec (90° — 0) . cosech — tan (90° — 0) . coth.
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tA + cosecA — 1 1 + cosA
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